
Primary Arithmetic YEAR 6 © Popcorn Education 

Y6	Su2	 YEAR	6	-	SUMMER	TEST	2	
First	Name	 	 Class	 	

Last	Name	 	 Date	 	

	 TOTAL	
MARKS	 /34	

	
	
1   13 x 0 = 

	
	
	
	
	

	
	

	
1	mark	

	 	
2   4984 ÷ 8 = 

	
	
	
	
	

	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	

	
3    x 10 = 46 + 14 

	
	
	

	
	
	
	

	
1	mark	

	 	
4   9 = 81 ÷  

	
	
	

	
	
	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	

 
5   465.34 ÷ 1000 =  

	
	
	

	
	
	
	

	
1	mark	

	 	
6   82 =  

	
	
	

	
	
	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	

	
7   1 – 0.1 =  

	
	
	

	
	
	
	
	

	

	
1	mark	

	 	
8  431 x  = 431 000 

	
	
	

	
	
	
	
	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	
	



Primary Arithmetic YEAR 6 © Popcorn Education 

	
9    +  = 

	
	
	
	
	

	
	

	
1	mark	

	 	
10    = (6 + 39) ÷ 9 

	
	
	
	
	

	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	

	
11    x  = 

	
	
	
	

	
	
	

	
1	mark	

	 	
12   6 x 4 + 1 = 

	
	
	
	

	
	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	

	
13    of 99 =  

	
	
	

	
	
	
	

	
1	mark	

	 	
14   10 + 12 ÷ (4 + 2) = 

	
	
	
	

	
	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	

	
15   5 = 1690 ÷  

	
	
	

	
	
	
	

	
1	mark	

	 	
16    +  =  

	
	
	

	
	
	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	

	
17   5 x 5 – 9 = 

	
	
	

	
	
	
	

	
1	mark	

	 	
18    = 80% of 120 

	
	
	

	
	
	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	



Primary Arithmetic YEAR 6 © Popcorn Education 

	
	

19   74 574 + 723 – 2738 = 
	
	
	
	
	
	
	
	
	
	
	
	

	
1	mark	

	 	
20    = 5% of 140 

	
	
	
	
	
	
	
	
	
	
	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	

	
21   7 x  = 13 293 

	
	
	
	
	
	
	
	
	
	
	
	

	
1	mark	

	 	
22    = 40% of 120 

	
	
	
	
	
	
	
	
	
	
	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	

	
23 

			 	 	 	 	 	 	 	 	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	

	
2	marks	

	 	
24 

			 	 	 	 	 	 	 	 	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
2	marks	

	

6 6 7 5  	 	 	 2 2 3 4 9 8 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	



Primary Arithmetic YEAR 6 © Popcorn Education 

	
25   6 + 6 x (4 - 3) = 

	
	
	
	
	
	
	
	
	
	

	
	

	
1	mark	

	 	
26   7384 -  = 2736 

	
	
	
	
	
	
	
	
	
	
	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	

	
27   45.7 – 6.865 + 2.34 = 

	
	
	
	
	
	
	
	
	
	
	
	

	
1	mark	

	 	
28   22 =  + 6.736  

	
	
	
	
	
	
	
	
	
	
	
	

	
1	mark	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	
	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	

	
29 

			 	 	 	 	 	 	 	 	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
2	marks	

	 	
30 

			 	 	 	 	 	 	 	 	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
2	marks	

	 6 7 6 5  	 	 	  6 4 5 6  	

	      	 	 	 x   6 5  	

	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	

	 	 	 	 	

	

	 	 	 	 	

		 	 	 	 	
	 	 	 	 	

	 	 	 	 	 	 	 	 	 	 	

	


